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Application class Per-hop behavior Admission control Queuing and dropping

VolP telephony EF Required Priority Queue (PQ)
Broadcast video CS5 Required (Optional) PQ
Real-time interactive CS4 Required (Optional) PQ
Multimedia conferencing AF4 Required BW Queue+DSCP WRED
Multimedia streaming AF3 Recommed BW Queue+DSCP WRED
Network control CS6 BW Queue
Signaling CS3 BW Queue
Ops/Admin/Mgmt (OAM) CSs2 | | BW Queue
Transaction data AF2 BW Queue+DSCP WRED
Bulk data AF1 BW Queue+DSCP WRED
Best effort DF Default Queue + RED
Scavenger CS1 Min BW Queue
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C9300#show platform
Switch Ports Model Serial No. MAC address Hw Ver. Sw Ver.

1 65 C9300-48U FCW2152G03C 501c.b06e.d300 V01 17.09.05
Switch/Stack Mac Address : 501c.b06e.d300 - Local Mac Address
Mac persistency wait time: Indefinite

Current
Switch# Role Priority State
*1 Active 1 Ready

C9300#show cdp neighbors

Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge
S - Switch, H - Host, I - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay

Device ID Local Intrfce Holdtme Capability Platform Port ID
SEPD4ADBDCE1516 Gig 1/0/1 176 HPM IP Phone Port 1l

Total cdp entries displayed : 1
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C9300(config)#interface gigabitEthernet 1/0/1
C9300(config-if)#auto qos voip cisco-phone
C9300(config-if)#end
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C9300#show running-config interface gil/0/1
Building configuration...

Current configuration : 199 bytes

|

interface GigabitEthernetl/0/1

trust device cisco-phone

auto gos voip cisco-phone

service-policy input AutoQos-4.0-CiscoPhone-Input-Policy
service-policy output AutoQos-4.0-Output-Policy

end
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C9300#show policy-map interface gil/0/1
GigabitEthernetl/0/1

Service-policy input: AutoQos-4.0-CiscoPhone-Input-Policy

Class-map: AutoQos-4.0-Voip-Data-CiscoPhone-Class (match-any)
0 packets
Match: cos 5
QoS Set
dscp ef
police:
cir 128000 bps, bc 8000 bytes
conformed 0 bytes; actions:
transmit
exceeded 0 bytes; actions:
set-dscp-transmit dscp table policed-dscp
conformed 0000 bps, exceeded 0000 bps

Class-map: AutoQos-4.0-Voip-Signal-CiscoPhone-Class (match-any)
0 packets
Match: cos 3
QoS Set
dscp cs3
police:
cir 32000 bps, bc 8000 bytes
conformed 0 bytes; actions:
transmit
exceeded 0 bytes; actions:
set-dscp-transmit dscp table policed-dscp
conformed 0000 bps, exceeded 0000 bps

Class-map: AutoQos-4.0-Default-Class (match-any)
0 packets
Match: access-group name AutoQos-4.0-Acl-Default
QoS Set
dscp default

Class-map: class-default (match-any)
4 packets
Match: any



Service-policy output: AutoQos-4.0-Output-Policy

queue stats for all priority classes:
Queueing
priority level 1

(total drops) O
(bytes output) 3913

Class-map: AutoQos-4.0-Output-Priority-Queue (match-any)
0 packets
Match: dscp cs4 (32) cs5 (40) ef (46)
Match: cos 5
Priority: 30% (300000 kbps), burst bytes 7500000,

Priority Level: 1

Class-map: AutoQos-4.0-Output-Control-Mgmt-Queue (match-any)
0 packets
Match: dscp cs2 (16) cs3 (24) cs6 (48) cs7 (56)
Match: cos 3
Queueing

queue-1limit dscp 16 percent 80
queue-1limit dscp 24 percent 90
queue-1limit dscp 48 percent 100
queue-1limit dscp 56 percent 100
(total drops) O

(bytes output) 0

bandwidth remaining 10%
gueue-buffers ratio 10

Class-map: AutoQos-4.0-Output-Multimedia-Conf-Queue (match-any)
0 packets
Match: dscp af4l (34) af42 (36) af43 (38)
Match: cos 4
Queueing

(total drops) O

(bytes output) 0
bandwidth remaining 10%
gueue-buffers ratio 10

Class-map: AutoQos-4.0-Output-Trans-Data-Queue (match-any)
0 packets
Match: dscp af2l (18) af22 (20) af23 (22)
Match: cos 2
Queueing

(total drops) O

(bytes output) 0
bandwidth remaining 10%
gueue-buffers ratio 10

Class-map: AutoQos-4.0-Output-Bulk-Data-Queue (match-any)
0 packets
Match: dscp afll (10) afl2 (12) afl3 (14)
Match: cos 1
Queueing

(total drops) O



(bytes output) 0
bandwidth remaining 4%
gueue-buffers ratio 10

Class-map: AutoQos-4.0-Output-Scavenger-Queue (match-any)
0 packets
Match: dscp csl (8)
Queueing

(total drops) O
(bytes output) 0
bandwidth remaining 1%
gueue-buffers ratio 10

Class-map: AutoQos-4.0-Output-Multimedia-Strm-Queue (match-any)
0 packets
Match: dscp af3l (26) af32 (28) af33 (30)
Queueing

(total drops) O

(bytes output) 0
bandwidth remaining 10%
gueue-buffers ratio 10

Class-map: class-default (match-any)
0 packets
Match: any
Queueing

(total drops) O

(bytes output) 1434
bandwidth remaining 25%
queue-buffers ratio 25
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%SWITCH_QOS_TB-5-TRUST_DEVICE_LOST: cisco-phone no Tonger detected on port Gil/0/1, operational port tr
%SWITCH_QOS_TB-5-TRUST_DEVICE_DETECTED: cisco-phone detected on port Gil/0/1, port configured trust sta
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